ERRKRDHES

ERT—IN—2IBISH—F

2024568118 (X)) 5SEHEE3H

m 3%—5# YSR3I® BRI
[AXE%E]) 1 %&:430,00H ~ 2%&:138,000H  3#%:77,00M  43%&:52,000H  53&:34,000H
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
~, ~ HKIBA :31. -3-2- . - HELER (k8
11812 FvoFUYR 3 i 1(3_1)4 3-3-2-1 | 40.0 1 (4_631) nerE =)
RiZTvF—O¥vbh B:HYISAHIYIR LLIEB#5
S AN I = 1:32.6 1-1-1-2 | #41.3| — 4 461 | HENE (EE)
2011 [P AVTHAY 54.0 ®) (3) | EATH—EB
RiTJT/ =X/ BITSYRFHAY N FiEEF
VS 4% 3 | BUEE 1:32.9 11-10-11-9 | 39.8 | — 6 479 | MBS (E8)
317110/ V54O #53.0 a1/ o |LEs
R:I—FYNO—R B:97LyIRAA & IE—
o # 3 | REK 1:33.3 4-5-3-3 | 41.6| — 2 454 | THERE (1)
4 7| 7—N .0 %) 2 | @ JPNEH
R:T=ILRY YD BORERAASAY EvIUy RI7—L4
B3 | EEAR 1:33.3 6-6-6-5 | 41.1| — | 10 | 437 |REM (£&H)
5 4| A/ —AB—L 54,0 O\F) @) | FEERR
RIZVGVEI )T BRI/ —Fhov TS
. s 3 | TR 1:33.3 12-12-9-10 | 40.1 | — | 12 | 509 |FHHEEALE (f£ES)
6 9|/\NZJY .0 (F9) 1) |AvERX
RNV vH—)L B:N\vE—h—=T T BE
S~ =~ REEC :33. -8-8- . - AT (K8
. g TAyvaSYY 4t 3 B 1(323)7 9-8-8-8 | 41.2 9 ésg) 7&23:92%
RiZvF—74a4I B:I—-IVTUTxY THI7—
S .::M/ﬂ?—# : -7-7- - THIBERE (£8)
8 3| Fva—/—=W 4 3 i (11313/3 7-7-7-7 | 41.6 3 a514) A
R:IEAUR B:SIF—T+— ARt MEKE
3 s 3 | EPEA 1:33.9 5-4-4-4 | 42.2| — 5 | 404 |EHBTE (£E)
9 2 | RI—=H—=IL 54.0 NF) © | BB .
RFIRIWFVISL B/ —TIWFA+ mE 5=
S 4 3 | BWFES 1:34.2 8-9-10-11 | 41.4| — " 397 | KBEEK (EE)
10[5]6| 5~ 54.0 @1/ (3 |xEHE
RiVEILD+— B:EIEaNVYT— FNREe]
S s 3 | mEEY 1:34.2 2-2-5-6 | 42.5| — 7 392 | EOEY (k)
nlsls| /—2¥37 54.0 753 (o |BRR
R:TALik—L B:RAAY T7—ZV7vF+5
° I8 : -11-12- - FEART (£8)
1leln| avRU7 4 3 54.065 1.(395).9 10-11-12-12| 42.5 8 (3_936) jc%;s;%? i
RiIXIRKY #&:y—TU-X37 BRE|M IRF«4T77—L
@ 11— —®BIEfI
13—7— 1,5,12,7,2,4,3,6,8,11,10,9
20—F— 1,5,12,2,7,4,3,8,6,10,11,9
30—7— 1,12,7,2,5,4,3,8,9,6,10,11
43— — 12,1,7,2,4,5,3,8,10,9,6,11
o ILRE
B B 12 110 JA R 1-12 220M4 % 5E 1-8 470M4 3EE 1-10-12 2,410
7B B 12 100 10-12 490 Fs E 1-12 4704 3EH 12-1-10 4,450
1 160 1-10 1,500/ Ba 12-1 460
10 3904
ABCDOVTIRHTERERRODDZ, THERAILZETL




